



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{1}{4} =$$



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{28}{75}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{3}{5} = \frac{113}{180}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{4}\right) = \frac{31}{36}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{4}\right) = 0$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{4} = \frac{5}{16}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = (-1)$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{6}\right) = \frac{1}{12}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{3}{5} = \frac{17}{5} = 3\frac{2}{5}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{133}{20} = 6\frac{13}{20}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{3}\right) = \left(-\frac{8}{3}\right) = \left(-2\frac{2}{3}\right)$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{4}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{2} = \frac{19}{2} = 9\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{2}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{2}{5}\right) + \frac{1}{4} = \frac{13}{20}$$